
 6"  6" 

 24", 36", 48", 60", 72", 96" 

 4" 

TOP VIEW SURFACE MOUNT

1-13/16" X 5/16"
MOUNTING SLOT

7/8" FEED K.O.
 4.500 

 2.000 

 FIXTURE LENGTH  FIXTURE LENGTH 

END
CAP END

CAP
 FIXTURE LENGTH 

GENERAL NOTES: (READ SHEETS COMPLETELY BEFORE STARTING)
1. LEAVE PROTECTIVE WRAPPING MATERIAL ON FIXTURES UNTIL START OF INSTALLATION TO                   
PROTECT FINISH FROM DAMAGE.
2. FIXTURES ARE SUPPLIED WITH FACTORY INSTALLED BRANCH CIRCUIT WIRING. REFER TO 
SUPPLEMENTAL INSTRUCTION SHEET WHEN MAKING CONNECTIONS.
3. APPROXIMATE WEIGHT OF FIXTURE IS 3.50 LBS PER FOOT OF LENGTH.

ANCHOR MOUNTING SCREWS
FENDER WASHERS

SCREWDRIVER OR 1/4" HEX DRIVER/SOCKET

7/16" HEX DRIVER/SOCKET OR WRENCH

CROSS SECTION 
2L-S-D

EORL
(END OF ROW LEFT)

INT
(INTERMEDIATE)

EORR
(END OF ROW RIGHT) 

SIDE VIEW SURFACE MOUNT

CEILING

litecontrol.com

DO NOT MODIFY OR ALTHER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. 
IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

INSTALLATION INSTRUCTIONS FIXTURE SERIES: 2L MOUNTING TYPE: SURFACE

REV / DATE: 1 / 10/27/2021

PAGE: 1 OF 3

SUPPLIED BY INSTALLERTOOLS REQUIRED

DRAWING: 510674



EP

MOUNTING SCREWS

FIXTURES

N

REFLECTOR 
MOUNT
SCREW

TETHER WIRE

BRING POWER
FEED INTO 7/8" KO

FIXTURE

LENS

W

FIXTURE

END CAP

TETHER

AA

FLANGE NUTS

CARRIAGE BOLT

MAKE WIRING CONNECTIONS
IN EITHER LOCATION

SOME COMPONENTS HIDDEN FOR CLAIRITY

EXTRUSION BRACKET,
FEMALE FIXTURE.

EXTRUSION BRACKET,
MALE FIXTURE.

AC

LIFT FIXTURE UP NEAR CEILING . BRING ELECTRICAL FEED THRU 7/8" HOLE AND INTO 
FIXTURE WIREWAY.
RAISE 1ST FIXTURE FLUSH TO CEILING. SECURE WITH (2) ANCHOR SCREWS AND WASHERS.
(SUPPLIED BY INSTALLER) THROUGH MOUNTING SLOTS INTO CEILING STRUCTURE.

REPEAT STEPS 1-4 FOR ALL INTERMEDIATE FIXTURES. RAISE INT (OR END OF ROW 
FEMALE) FIXTURES UP AND SLIDE ONTO PROTRUDING BRACKET. INSTALL 5/16-18 X 
4.5" CARRIAGE BOLT TO SECURE FIXTURES TOGETHER. ATTACH 5/16-18 FLANGE NUT 
ON OTHER SIDE OF JOINT AS SHOWN. ALIGN SEAMS BEFORE FULLY TIGHTENING NUT. 
TIGHTEN ANCHOR SCREWS FROM STEP 4.

REMOVE THE END CAP ASSEMBLIES BY PULLING END CAP TO DISENGAGE 
MAGNETS. FOR INDIVIDUAL FIXTURE, DO SO AT BOTH ENDS. FOR ROW, DO 
SO AT NEAR END OF 1ST FIXTURE AND FAR END OF LAST FIXTURE.

CEILING

31

REMOVE REFLECTOR ASSEMBLY AND LET REFLECTOR ASSEMBLY HANG 
ON TETHERS.  

ROW MOUNT ONLY

2

4 5

TO REMOVE LENS, PULL LENS DOWN TO DISENGAGE LENS FROM FIXTURE. FOR 
INDIVIDUAL FIXTURE, REMOVE ONE END CAP PER STEP 1. 

SOME COMPONENTS HIDDEN FOR CLAIRITY

SOME COMPONENTS HIDDEN FOR CLAIRITY

6

MAKE ELECTRICAL CONNECTIONS IN FIXTURE WIREWAY. IF INSTALLING
ROW OF FIXTURES, ELECTRICAL FEED CAN BE AT ANY 7/8" HOLE LOCATION.
BRANCH CIRCUIT WIRES CAN BE BROUGHT THROUGH EACH ROW JOINT.

litecontrol.com

DO NOT MODIFY OR ALTHER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. 
IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

INSTALLATION INSTRUCTIONS FIXTURE SERIES: 2L MOUNTING TYPE: SURFACE

REV / DATE: 1 / 10/27/2021

PAGE: 2 OF 3

DRAWING: 510674



8

JK

LENS

FIXTURE

M

TO REMOVE  END CAP MOUNTING PLATE REMOVE THE 6-32 MACHINE SCREWS 
SHOWN ABOVE.

FIXTURE

MTG END CAP

SCREWS

U

FIXTURE

REFLECTOR ASSEMBLY

FIXTURE

REFLECTOR ASSEMBLY

AB

FIXTURE

SCREWS

DRVR

INSTALL BOTH END CAPS ON ENDS OF ROW OR 
INDIVIDUAL FIXTURE BY ALIGNING THE BOTTOM 
OF END CAP AND USING MAGNETS TO SECURE TO 
END HEADER PLATE 

RE-INSTALL ALL REFLECTOR ASSEMBLIES. DO 
NOT PINCH WIRES BETWEEN REFLECTORS AND 
BRACKETS

MAY BE NECESSARY TO 
PIVOT REFLECTOR 
ASSEMBLY TO RE-INSTALL

LENS REMOVAL

TO REMOVE, PULL LENS DOWN TO DISENGAGE LENS FROM FIXTURE FOR INDIVIDUAL 
FIXTURE, REMOVE ONE END CAP PER STEP 1.

END CAP MTG PLATE REMOVAL

LED REFLECTOR ASSEMBLY REMOVAL

BEFORE REMOVING LED REFLECTOR ASSEMBLY SEE STEP 7 FOR LENS REMOVAL.
TO REMOVE LED REFLECTOR ASSEMBLY:
REMOVE THE (2) #8 SHEET METALS SCREWS AS SHOWN.
DISCONNECT WIRE NUTS THAT CONNECT LED WIRES TO DRIVER.
DISCONNECT SAFETY TETHERS CONNECTED TO THE LED REFLECTOR ASSEMBLY.

9 10 DRIVER REMOVAL

BEFORE REMOVING DRIVER SEE STEPS 7 AND 9 FOR LENS AND LED REFL REMOVAL.
REMOVE THE (2) SCREWS AS SHOWN AND REMOVE DRIVER.

7

litecontrol.com

DO NOT MODIFY OR ALTHER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. 
IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

OPTIONAL INSTRUCTIONS FIXTURE SERIES: 2L MOUNTING TYPE: SURFACE

REV / DATE: 1 / 10/28/2021

PAGE: 3 OF 3

DRAWING: 510674


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View45
	Drawing View46
	Drawing View48

	Sheet2
	Drawing View9
	Detail View E (1 : 4)
	Drawing View15
	Drawing View23
	Detail View N (1 : 2)
	Detail View P (1 : 2)
	Drawing View40
	Drawing View41
	Detail View W (1 : 3)
	Drawing View43
	Detail View AA (1 : 3.5)
	Drawing View59
	Detail View AC (1 : 8)

	Sheet3
	Drawing View49
	Detail View J (1 : 4)
	Drawing View51
	Detail View M (1 : 3)
	Drawing View53
	Detail View U (1 : 4)
	Drawing View55
	Drawing View56
	Drawing View57
	Detail View AB (1 : 6)


